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Orden de Operaciones (C)

Realice las operaciones en el orden correcto.

. (67463,93 —52,58) x 85—96,66

. 85,97+425,36+415,1453,73 —-41,09

67,9 11,62+3,424+75,12+79,17

65,86+ 85,53 432,48 123,96 x 65,5

. 76,66 —60,5423,94 +51,7—43,37
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Orden de Operaciones (C) Answers

Realice las operaciones en el orden correcto.

. (67 +63,93 —52,58) x 85— 96,66
— 6.

563,09

. 85,97+425,36+15,1453,73 —-41,09

— 139,07

67,9 11,62+3,424+75,12+79,17

— 213,99

65,86+ 85,53 432,48 123,96 x 65,5

= 1.753,25

. 76,66 —60,5423,94 +51,7—43,37

— 48,43
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